3. Pl o\.‘aﬁmms and &:31

Need 6o {'Yav\s’?ah (93‘ ATy nowrkers

(N‘E bﬂtﬂ(&km)

e Step 4 break vp He Link, MOA edges and label them 4, ro%mg the orienfation -

)

. Sﬁy 2: ot eadn (ross\rS, vecord the row nombeTs accoré‘né o fhe {’a”a»hé ok

—> [a,b,c,d] Emmf?c 2

d——_b

[/

Resolt: [(1,5,2,4) (5,3.6,2),(3, 1,4,

Hon Yo 3:.& back the YAV\K?

S(’cF L. Daw a (rassing {m cach groop o’ ¢, otcordi/\é o the vle:

[{1,5,2,4) (5,3.62),(3, £,4; N

[ab,c,d] 7 ( cmm— a5

o



Task 0 - 1+1 . Ceidk Ron  (or press Sh‘!’( +En+«)= t

Tas(k A
o Stact o new cell

¢ |Mf0f't SMPF\) ;

import snappy

V\\r‘\fe down H\c P (anar Diogmm code -

PD= [(1, 5, 2, 4), (5, 3, 6, 2), (3, 1, 4, 6)]

M .
Dg{m(. o ShafP\, fink -
ppppppppppppp
PD= [(1, 5, 2, 4), (5, 3, 6, 2), (3, 1, 4, 6)]
L_snappy = snappy.Li

: =L_snaj .sage_li
L snappy = snappy.Link(PD) T maepy asge

Make it o szz ’?iV\K:

L=L_snappy.sage_link() )
Plg it

L.plot()



3, Pfomr o(faamms and &ae,
A. Weite down the PD code fbr e fo@wi% Pk J(osramsi

@ @ Ao

Hint - veald the Proceéwe was :
.S{’{P 1 .5{’&? 2 . RoLE -

Breald info ?ieceS: Decode \,g;g fkn,’c; A_T_—-b «— [a.b,c,dl

G

X > s 1 B ST, o Y
/. 3

2. Drow the fiwl( d\‘o:'jmms ussoda{'cci to tre ,roﬂowina PD codes -

o [#221)] by L(4,4.2,2)]

¢) [asn, (13297 &) [(BA42), (4,1,:3,D)
[(1,5,2,4) (5.3.¢2),(5, 4,4, N

Pl o Step 4: deaw the Crossings you need , anywlmc Yoo lke - J s

. Sch 2: watdh fhe eéses accow\ig&’ : r\-\J

3. Pbst the finks Ya.\do’(aioecl in A and 2 i Sxaz,
4. Oblain PD (odes for Hhe ,oﬂa»ina Dl diagrams usiné Sm?Pkt Then ?Psf fem in &,8,_

) O ) C@

A
S e




